Mass combat in Talislanta 4th Edition
This document aims to be a quick and dirty mass combat system for resolving larger battles around the characters without resorting to the use of board games or detailed combat. It is very abstract and should not be used for strategic battles where the outcome changes the major course of Talislantan events. In order to speed the whole thing up I usually don’t count numbers exactly but calculate the approximate numbers in my head when. The GM has final decision on the composition of casualties. 

Only two statistics of the units are used, combat rating (CR) which is a measure of combat ability. Use the highest weapon rating of the unit and adjust accordingly.

· Huge creatures +2

· Entrenched/Fortified +4

· Mounted +1

· Trained/trusted leader +2
And Magic Rating (MR) which is the magic using troops rating in offensive and/or defensive magic.

There are three phases per turn, one turn is an abstract time unit which can be anywhere from one combat round to a day, depending on the size of the battle. Larger equals longer.

The phases are 

1. Movement

2. Combat

3. Magic

Movement phase:

Speaks for itself. Troops are moved either on a map or in the GM’s and player’s heads.

Combat phase: 

1. Compare forces. Use the average adjusted combat rating of each side. Divide the number of forces on the larger side with the smaller force and round to nearest. This will be the number of d20’s rolled.

2. The smaller force rolls 1d20 and adds its average CR. The larger force rolls a number of d20 equal to the force ratio above, uses the highest and adds average CR.
3. Compare the rolls. The losing force loses a percentage of its troops equal to 5% x the difference in rolls. The winning side loses half this as an absolute number of troops.

4. Combat phase ends.

Magic phase: 
1. Add the total level of magic skill (MR) on either side. This number/20 may be either used to inflict casualties on the enemy or heal own troops. No other effects of magic are used in battles.

2. Magic phase ends.

Example:

A troop of 100 Thrall warriors CR=10, 50 Gnomekin warriors with CR=8 and 20 Cymrilian wizards with a MR of 10 confront a band of 300 Za bandits CR=6.

Turn 1:

Movement phase.

They first move to engage, thus the movement phase is finished.

Combat phase.

Seven Kingdoms average CR is (100*10+50*8)/150 = 9
Za average CR is 6

Za outnumber the Seven Kingdoms 2-1 and thus roll 2d20 vs. one for the Seven Kingdoms.

Za roll 9 and 13 and will use the highest die. 13+6 (CR) is 19

Seven Kingdoms rolls 17+9 which equals 26

26-19=7 7*5=35% which is the losses of the Za troops. This equals 105 men. Za force is now 195 men. The winning Seven kingdoms lose half number of troops 105/2=52 divided equally between Thralls and Gnomekin. Seven Kingdoms force is now 74 Thralls and 24 Gnomekin.

Magic Phase.

20 Wizards * 10 MR = 200

200/20 = 10

Seven Kingdoms player elects to heal 10 of his Thralls. The now number 84
Turn 2:

Movement phase.

No movement is made

Combat phase.

Seven Kingdoms force CR. (84*10 + 24*8)/108 = 10 (rounded)

Za force CR = 6

Za still outnumber 2-1 (rounded to nearest whole)

Za rolls are 4 and 11, Seven Kingdoms roll a 20
Casualties are:

Za (20+10)-(11+6) = 14 14*5 = 70% (Not a good day for the bandits). 70% of 195 are 137 and their troops are now down to 58 men. Seven Kingdoms lose 137/2 = 68. They are down to 40 Thralls and no Gnomekin (casualties spill over to thralls). In this case the GM can instead decide that the Seven Kingdoms player takes a number of casualties to his wizards, but in this example we’ll just skip that.

Magic phase.

Seven kingdoms player elects to inflict 200/10 = 20 casualties to the Za.

They are now down to 38 men. They choose to flee from the battle. If the battle would have continued it would have been at a ratio of 1-1 so both sides would roll 1d20+CR.
